
Tuesday 

There are 3 different ways that we can spell ‘to’! 

            two                    too                      to 
 

Two – this  is the number 2.  

Example: There were two cakes on the table.  

 

Too – this is when there is ‘too much’ of something. 

Example: There were too many pencils in the pot. 

 

To – this is the most common to. Use this ‘to’ if it is not the 

number two or ‘too much’.  

Example: They were going to the park.  
 

1. Can you fill in the gaps with the correct to?  

 

 

 

 

 

 

 

 

 

2. Can you write three sentences? One with ‘two’, one with ‘too’, one with 

‘to’.  


